06

24:

11




01




(
0.8m3(

0.6)

)(

)

[x] =3




5,000m3

m3

Q)

(&)

44.26

0.8m3[

3]
0.6m3]

44.26

36.73

36.73

19.01

,2 4KL

19.01

[J2]

5,000m3

[J5]




m2

Q)

(&)

23.12

3.1m

11.29

10t

2.1m

8 20t

68.86

44.09

12.86

,2 4KL




m2

)

D)

1
[01] =1

[J4] = 1




0.45m3(  0.35m3)

(D) (D)
45.59
[ 1
10t
45.59
39.52
39.52
14.89
,2 4KL
14.89
1
[01] = 1 [J2] = 3 0.45m3(  0.35m3)
[33]1 =1 ( ) [J4 =1 DID DID
[39] = 2 1.0km




m3

Q)

(&)

23.13

0.8m3(

(

0.6)

23.13

51.64

51.64

25.23

,2 4KL

25.23

1
[P1] =1




Q) (&)

> ( )
0.8m3(  0.6)

.71

80.

61

38.

29

22.

49

19.

83

.68

,2  4KL

.68

[J1 INK] |

e e el
Inin
N
nin
=N

[J4 [J5]




4.0m 20,000m3

m3

Q)

(&)

18.46

, 7t

<

>

(
10.5 12t

65.59

45.48

20.11

15.95

,2  4KL

15.95

[J1

el el

4.0m

[32] = 1

20,000m3

[J3

e

Inin
= w




) 2.5m

m3

Q)

(&)

0.70

<

> (
0.8 1.1t

0.70

99.06

90.63

8.43

0.24

,2 4KL

0.24

1
[01] = 1

2.5m




150mm 1

m2

Q)

(&)

.88

3.1m

.96

10t

2.1m

.13

8 20t

.01

33.

13

15.

46

.15

-03

.52

56.

99




m2

8
( 150mm 1
Q) )
30 Omm
53.57
,2  4KL
2.81
« )
[ 1
[J1] = 10 M-30 [J4] = 150.000 mm
= [J7]1 =1

[J5]




m3

Q)

(&)

.90

0.8m3(  0.6)

.68

33.

90

10.

56

.00

.83

.59

62.

20

18-8-40 W/C(60 ),

60.

32

,2  4AKL

.78




( )
%) ()
« D
1
[01] = 1 [J9] = 2
[N1] = 32 18-8-40(  )W/C60Y% [95] = 1
[JB] =1 [N3] = 1




10

800mm

1,200mm

Q)

(&)

.15

0.45m3(

0.35m3)

(

2.9t

.14

C )

18.

92

.17

.68

.65

.31

78.

93

(GED
800 1200mm

77.

75

.18




10

800mm 1,200mm
Q) )
[ 1
1] =1 [02]1 = 1
[33] =1 800mm 1,200mm [J5] = 2 (@)




TR IRNER LS EHET

THES
% = S 15 * W 20 ARG K T 9
THEXS | T | | B | B |5 EEE | A G i =
K T +T = 1
LT T X 1
ﬁfﬁ’g B+ m2 270 273.0 273.0 1
AT = 1
BEIRRE W 1 m3 160 161.0 161.0 Bl
R+ g+ m3 30 31.5 31.5 B2
fEA T W 1 m3 260 256.0 256.0 YN
PR T =X 1
FEAR T =X 1
e A t=15cm m2 322 322.0 322.0
K& T = 1
K T = 1
KEEIERE | o ck=18N/mm2[] m3 4 3.5 3.5
LA ¢ 600 m3 70 70.0 70.0
KT = 1
KREHKT X 1
AN T RRIE & T 1 1.0 1.0




THEXS | T &l Al LR | WAL RFEEE | A& F fii 22
JEIR T +T
fHI T
i m3 1000 | 1000.0 | 1000.0
UNGEATTE 517 #+ m3 30 27.3 27.3 Y t=10cm
BAAET X 1
BRI S BB L m3 1030 | 1027.3 | 1027.3
e mnt 3 U Heth m3 1030 | 1027.3 | 1027.3




+ ThS R B} 2 ARSI K T
+&E2 R 0.9
7 I 1| I 192.5/0.9 X 1.2= % +
956.7 m3 \
] BET + 0.0 m3 LN e B1 161.0 m3
Le=) m3 % + B2 31.5 m3
T Mg 1 0.0 m3 3 192.5 m3
e m3
ey 0.0 m3
] R i EREEE 10
h 0.0/1.0= HORE L
o 0.0 m3 / _— R L+
LN B L Y+ 0.0 m3
1 & L
0.0 m3|| 0.0 /0.90 =
o 0.0 m3 m / TAUTEE | et 0.0 m3
. 0.0 m3
! -256.7 m3 | (0.0 / 1.20 =
Mg+ —-256.7 m3 [« z / o3 RS T s + 0.0 m3
.Uum
xR 0.0 m3 (0.0 /1.20=
0.0 m3 VB K AL T ey 0.0 m3
(HYE 1) m oom3 | AR LCE -
\{E@% 0.0 m3[* TH B DR 0 m3
€z 0 m3




By 2 NERL KKK TH
R 7% + T R OE (1 01
%+ T)
‘ N FEIR A £ Bl B ARE £ B2
Y/E\IJ NN EtEl: %E e -
Wr m | 2 B | S OFE
2.3 1.15 0.0 0.45 0.23 0.0
70.0 2.3 2.30 161.0 0.45 0.45 31.5
1.15 0.0
& 7 70.0 161.0 31.5




AR

B 2 AR SKIE T8

- ES + 3B oE (1 1
(&2 1))
: B EE O] 1) 11
oAl —
B E | EY | E
3.9

70.0 3.9 3.90 273.0

& 7 70.0

273.0




AR

*

P50 REETEG KB T

v B #  FE L AR OE (1 1
(B T)

‘ B b= (t=15cm)
i SN I SN .

Wr N S| RYARY S
ST 0.0 4.6
ST 6.4 70.0 4.6 4.60 322.0
& F 70.0 322.0 0.0 0.0




3t

7K

P50 REETEG KB T

S T oA OE (1 01
(K FEAET)
‘ - KIS FLAfE T KT (FVT =317 $600)
S | —
=R | R | HE
0.05
70.0 0.05 0.05 3.5 70.0

A i 70.0 3.5

70.0




P50 REETEG KB T

2 — % + LT A EFE (1 01

(JE3ET)

‘ B PRI : C1
AR | B OBE

-

ERREIEE

10.0

100.0 10.0 10.00 1000.0

= & 100.0

1000.0




